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Let ABc be atriangiegueh that 1B =losg c=ad
Then, we have f iNd bnf mfasure of of ty £
Hivd Anglée A

_ o
NO® ., 1B =105 ond Lf =36

o
0

= B31S = jos tde =135
B9 thE€ Aamgle surproperty of A Eriangle .,
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L& +1B Y & = 180
= LA ¥ 138 = |ag
= LA =l=o~- s
= Lk = 4g .
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=0
LS sy - 8
L LA = 38 2ASTANC =2 i

Solutionpz -

iy en thak,
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LACD ¢ LACR =) g
105"+ Aol =1 a2
LACBEI%J—IQS"
L.P":Q :-.g;:'.
gince LCAR and [EAF gve Verticaliy
oPPosite angles :
LEAB = LEAF =yg°
Bu using Angle SUwn P¥oPevty 20
L3e hove eagle
Ch A
L EE+|_CQ.+ ABe - g2
A
H% ST gl
tso
LAB € = 1gé~ag
LABc =¢34
Solution -01 - !
W EnN
PP ST
2y AnglEe dumPISPEr Luyof o tTiaﬂﬁlsz@th
measuse of angles be .2 and gy
A 42 kB =1ad
Fals :.IC.'._E‘-S
=30
LA =2dL2Y =94
L& =g8
1c = _‘31:
okt LA CF 4+ LECD =188 @
E Ll”Eq_& s
L d ) ! Peiy]
12 YAa 4+ LFep sigd

LECD = lgd T
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Soluki On -0 - i
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N
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Gwen [ Fep = 5.°

LGHD:‘T_
In & ABRD, WehaVve

LADR gy -

IFCD a nd LB AD Oy e VE?er'C‘J.L{-,\ cPPCLl-{gf

Anglé g

LFee = B AD

‘. 1= An :5(,&'

Solu Xion-io:.
Cpiyen
LE F Bepd

LFDc=g¢
i boE B

LC FP & U:D( +IDCF ':[g;_-,' E.{.‘;(gi-:j
IDCF zige «¢&~9¢ -ag

LBCPR+ 2= g8 =5 o« = 1ag%dl 158
Corineogypaivd e’ -+ A = ag

Here

/AED+120° = 180" (Linear pair)

= /AED =180" — 120° =60°

We know that the sum of all angles of a triangle is 180°.
Therefore, for A ADE, we can say that :

ZADE + ZAED + #DAE = 180"

= 60" + ZADE+ 30" = 180°

Or,

ZADE =180° —60° —30° =90°

From the pgiven fipure, we can also say that:
/FDC+90" — 180"  (Linear pair)

= /FDC =180 —90° = 90"

Using the above rule for ACDF, we can say that :
ZCDF + /DCF + ADFC =180°

= 090" + /DCF + 60" = 180~

ZDCF =180° — 607 — 907 = 30°

Also,

/DCF +x=180" (Linear pair)

= 30" +x=180"

Or,

x=180" — 30" = 150"
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(1)

Here,

Z/BAF + /FAD = 180" (Linear pair)

= /FAD =180" — /BAF =180" — 90" =90~

Also,

ZAFE = ZADF + /FAD (Exterior angle property)

ZADF +90° =130°

ZADF =130 —90° = 40°

(1)

We know that the sum of all the angles of a triangle is 180°.
Therefore, for ABDE, we can say that :

/BDE + /BED + #/DBE = 180",

= /DBE = 180" — /ZBDE — /BED = 180" — 90" — 40" =50" ... (i)
Also,

/FAD = ZABC + ZACB (Exterior angle property)

= 00" =50"+ ZACB

Or,

ZACB =90 — 50" =40°

(i) ZABC =/DBE = 50° [From (i)]

Lolution -y 2.
Given |AFE =123
LCARB =q 2

LPFB :ﬂ‘o‘,

i> 2pE
LAFE = I%¢o
LAk €B - 45
LBRE +MAce +1ABCc - 148

Lhec LBALS =188 — 58 - 9,°

LARC =§g¢

i 1Boe = jad - BE- 92
= L‘Il;
(in? LBcA = 4o

fiin LAee =sd - .
> &


http://cbs.wondershare.com/go.php?pid=5239&m=db

mm Wondershare

https://millionstar.godaddysites.com/
Remove Watermark g PDFelement

Solukion 12 .-

eliven ,
&< = 98
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S0, |PAX = |BAc
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LeAx, LPAC owmcl LBAc is Lineaqy Pod v
L¥A %y |oAc + IBAc = g0
To+ 15 + [Bac =g’
Al = &
Le t%u_h‘,:
LBAC =~ GeF |
Ler [B= je=q.
o Falbg Ansle gym pr
SPery by of a LYFGH{]IQ

L€ have S ET oA AG o
=
q".*'{+" =1ad A e R0 48 lye?

e
=1d
= 70

¢ =
- L = o=

A o

Splubon —& -

GIven

hee =as A AeE

e have A4 NE
By usingy :
Ne  Shm PY¥ope vty ar a Lviomg| e
36*5‘?4‘]_3&(..—-“5;
BAE = lgf-a5°

o
LB A c:qa_} Welpr®
>

= 1BAL 4 ERL - &
i =
421 143l

. =
LBAL =42 s®_ jca)

By ug <2’
sina Ansle g4, PYofertu aof A Y ian O\
=
L€ have , - 6 < !
a
6% 12l & A ol K

=
[}

LBLE =-laT ¢ g0
{_ALC‘ = Tl i %

%
%
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By wsin g Angle

Sumprepeviy of A kyiangle oeleive
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